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Mr. Schlansky - Q E Geometry

Proving Parallelograms

1. Quadrilateral ABCD with diagonals AC and BD is shown in the diagram below.

Which information is ot enough to prove ABCD is a parallelogram?
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2. Quadrilateral ABCD has diagonals AC and BD. Which information is nof sufficient to
prove ABCD is a parallelogram? - Y.
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1) AC and BD bisect each other. &5~
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4. Given: Ll=/2, /3= /4 R
Prove: NRQW is a parallelogram
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3. Given: AB=CD, /1= /2
i Prove: ABCD is a parallelogram
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6. Given: E is the midpoint of SB, AE = ER
Prove: SABRis a %:allelogram
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7. Given: AASR = ARBA

Prove: SABR is a parallelogram g, //
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9. Given: YMNK is a parallelogram, YE = ON lﬂ l-e
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Prove: MOKE is a llelogram '
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10. Given: Quadrllateral ABCD, diagonal AF; C’ AR = FC BF_LA("
Prove: ABCD is a parallelogram. M()m’; iSo p:)[j'n
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